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000 00O package com.graphic. import java.util.lterator. import
java.util. TreeSet. public class CharSequence { private String[] ¢ =
{"1","2","2","3","4" "5"}. private int n = c.length. private boolean(]
visited = new boolean[n]. private int[][] g = new int[n][n]. private
TreeSet ts = new TreeSet(). private String result ="". public
CharSequence(){ for(int i=0. i for(int j=0. j if(i ==) g[i][j] = 0. else
g[i]i] = 1. } } 9[31[5] = 0. g[5][3] = 0. } public void depthFirst(int
Index){ visited[index] = true. result = c[index]. if(result.length() ==
n){ ts.add(result). result = result.substring(0,result.length()-1).
visited[index] = false. } else{ for(int i=0. 1 if(!visited[i] 100Test (I [
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